Calcul Mental
(Serie de 20 calculs)



64 + 399 =



856 - 199 =



3598 - 19 =



723 - 101 =



80 x 70 =



427 dixiemes = ? unités



7 X 506 =



99 x 6 =



Le triple du quart de 24 ?



1750 km = ? dm



25 +13 + 75 + 987 =



191 + 303 +9 -3 =



25 X 17 x4 =



540 :9 =



3000 - 1250 - 1000 =



80 x ? =480



17

La moitié du triple de ? est 33



457
+ 2?9

=490



683
?9

= Hl54






Correction



64 + 399 =



856 - 199 =



3598 - 19 =



723 - 101 =



80 x 70 =



427 dixiemes = unités



7 X 506 =



99 x 6 =



Le triple du quart de 24 ?



10

1750 km =

dm



11

25 +13 + 75 + 987 =



191 + 303 +9 -3 =



25 X 17 x4 =



540 :9 =



15

3000 - 1250 - 1000 =



80 x = 480



17

La moitie du triple de

est 33



457

=49



683

= Hl54






